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Q Tick(�) the correct answer in each of the following 

 

 

1. 3l  200 ml - 1l  400 ml 

 

(a) 4l  600 ml 

(b) 1l  200 ml 

(c) 1l  800 ml 

(d) 2l  800 ml 

 

2. 7.5 kg = _____ g 

 

(a) 75 kg 

(b) 750 g 

(c) 7500 g 

(d) 7000 g 

 

3. What is the perimeter 

of a rectangle of sides 

14 cm and 20 cm? 

(a) 68 cm 

(b) 68 sq. cm 

(c) 280 cm 

(d) 42 cm 

 

 

4. What is the area of a 

square with sides 12 

m? 

 

(a) 48 sq. m 

(b) 144 sq. m 

(c) 144 m 

(d) 48 m 

 

5. A bottle of sauce 

weighs 400 g. 

What will be the 

weight of 10 such 

bottles? 

(a) 40000 g 

(b) 4 kg 

(c) 40 kg 

(d) 4000 kg 

 

6. A bunch of 12 bananas 

weighs 660 g. how 

much does each 

banana weigh? 

 

(a) 648 g 

(b) 55 g 

(c) 55 kg 

(d) 792 g 

 

 

7. A bottle of juice had 1l 

500 ml in it. If 700 ml 

is still left in the 

bottle, how much was 

used? 

 

(a) 1 l 100 ml 

(b) 1 l 200 ml 

(c) 800 ml 

(d) 80 ml 

 

8. (6 cm – 6 mm) 

 

(a) 5.4 cm 

(b) 6.94 cm 

(c) 5.94 cm 

(d) 5.04 cm 

 

 

9. 550 m + 550 m 

    

(a) 1 km 

(b) 1.11 km 

(c) 1.1 km 

(d) 10.1 km  
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